CHEMISTRY

BOOKS - SURA CHEMISTRY (TAMIL
ENGLISH)

SOLUTIONS

1. The molality of a solution containing 1.8 g of

glucose dissolved in 250g of water is



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_xCjcDwhk3HIt

A.0.2M

B.0.01 M

C.0.02 M

D. 0.04M

Answer: D

° Watch Video Solution

2. Which of the following concentration terms is

are Independent of temperature?


https://dl.doubtnut.com/l/_xCjcDwhk3HIt
https://dl.doubtnut.com/l/_YkrChKg1P2cr

A. molality

B. molarity

C. mole fraction

D.(a) and ©

Answer: D

o Watch Video Solution

3. Stomach acid a dilute solution of HCI can be
neutralised by reaction with Aluminium

hydroxide.


https://dl.doubtnut.com/l/_YkrChKg1P2cr
https://dl.doubtnut.com/l/_ngGTu5FLaaHS

Al(OH)3 + 3HCl(aq) — AlCIl; + 3H,0
how many millitres of 01 M Al(OH), solution
are needed to neutralise 21 ml of 0.1 M HCI?

A. 14 mL

B.7mL

C.21TmL

D. none of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_ngGTu5FLaaHS

4. The partial pressure of nitrogen in air is
7.6 X 76 atm and its Henry's law constant is
7.6 x 10° atm at 300 k. What is the mole
fraction of nitrogen gas in the solution obtained
when air is bubbled through water at 300 K?
Alx10"?
B.1x 10~°

C.2x10°°

D.1 x 10°°

Answer: D

| = |


https://dl.doubtnut.com/l/_W4sIAsIaIgmP

| QJ Watch Video Solution

5. The Henry's law constant for the solubility of
Nitrogen gas in water at 350K is 8 x 10* atm.
The mole fraction of nitrogen in air is 0.5.The
number of moles of Nitrogen from air dissolved
in 10 moles of water at 350 K and 4 atm pressure

IS

Adx104
B.4 x 10*

C.2 x 102


https://dl.doubtnut.com/l/_W4sIAsIaIgmP
https://dl.doubtnut.com/l/_hK3FLVrpHR2Y

D.2.5 x 1074

Answer: D

o Watch Video Solution

6. Which one of the following is incorrect for

ideal solutions?

AAH,, =0

B. AU,ix =0


https://dl.doubtnut.com/l/_hK3FLVrpHR2Y
https://dl.doubtnut.com/l/_Kh5mJEpdOsvw

AP = P, observed P calculated by Raoult’s law — 0

D. Aszm =0

Answer: C

o View Text Solution

7. Which one of the following gases has the

lowest value of Henry law constant ?

A N,


https://dl.doubtnut.com/l/_Kh5mJEpdOsvw
https://dl.doubtnut.com/l/_MkHeL5nom5hb

B. He

C.CO,

D. H,

Answer: C

o Watch Video Solution

8. P, and P, are the vapour pressures of pure
liquid components , 1 and 2 respectively of an

ideal binary solution if x; represents the mole


https://dl.doubtnut.com/l/_MkHeL5nom5hb
https://dl.doubtnut.com/l/_WLp42REdbJ5b

Traction of component 1, and the total pressure

of the solutions formed by 1 and 2 will be

A. P1 + ZEl(PQ - Pl)

B.P, — (P, + P)

C.P1—332(P1—P2)

D. P, + x3(P) — P»)

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_WLp42REdbJ5b

9. Osmotic pressure () of a solution is given by

the relation

A m™=nRT
B.mV = nRT
C.wRT =n

D. none of these

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_plCjlxSJwCHj

10. Which one of the following binary liquid

mixtures exhibits positive deviation from Raoults

law?

A. Accetone + chloroform

B. Water + nitric acid

C. HCl + water

D. Ethanol+ water

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_lsUpRCUrQipC
https://dl.doubtnut.com/l/_46sCLj4zBKfM

11. The Henry's law constant for two gases A and
B are x and y respectively.The ratio of mole
fractions of A to B is 0.2 The ratio of mole

fraction of B and A dissolved in water will be

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_46sCLj4zBKfM

12. At 100° C the vapour pressure of a solution
containing 6.5 g a solute in 100 g water is
732mm.If K, = 0.52, the boiling point of this
solution will be

A.102°C

B.100°C

c.101°C

D.100.52°C

Answer: C

| a wAar_ao_L vl _ e~_1__0°_ _



https://dl.doubtnut.com/l/_46sCLj4zBKfM
https://dl.doubtnut.com/l/_ozRSa5jZ6kiL

o Wyvdllll VIUCO o00I1ULIOTN] ]

13. According to Raoult's law the relative

lowering of vapour pressure for a solution is

equal to

A. mole fraction of solvent

B. mole fraction of solute

C. number of moles of solute

D. number of moles of solvent

Answer: B

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_ozRSa5jZ6kiL
https://dl.doubtnut.com/l/_oaU0LHM9wFXu

14. At same temperature , which pair of the

following solutions are Isotonic?

A.0.2MBaCly, and 0.2Murea
B.0.1M glucose and 0.2 M urea
C.0.1MNaCl and 01 MK5S50,

D.0.1MBa(NO3) and 0.1MNaySO,

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_oaU0LHM9wFXu
https://dl.doubtnut.com/l/_HfZk1845IqmH

15. The emplrical formula of a non-electrolyte (X)
is CH,0 A. solution containing six gram of X
exets the same osmotic pressure as thet of
0.025M  glucose solution at the same
temperature. The moleculra formula of X is

A. 02H402

B. CngﬁOg

C.C,Hy0,

D.CH,0

Answer: B

| = |


https://dl.doubtnut.com/l/_WmzmxG5ACic8

| QJ Watch Video Solution

16. The Ky for the solution of oxygen dissolved
in water is 4 x 10*atm at a given temperature . If
the partial pressure of oxygen in air is 0.4 atm
the mole fraction of oxygen in solution is

A 4.6 x 10°

B.1.6 x 10°

C.1x10°°

D.1 x 10°


https://dl.doubtnut.com/l/_WmzmxG5ACic8
https://dl.doubtnut.com/l/_h1GdVHLhu9Sl

Answer: C

° Watch Video Solution

17. Normality of 1.25 M sulphuric acid is

A.1.25N

B.3.75N

C.25N

D.2.25N

Answer: C

| o


https://dl.doubtnut.com/l/_h1GdVHLhu9Sl
https://dl.doubtnut.com/l/_ucUF7Ms2QGaU

I & Watch Video Solution ]

18. Two liquids X and Y on mixing gives a warm

solution. The solution is

A. ideal

B. non-ideal and shows positive deviation

from Raoult's law

C. ideal and shows deviation from Roult's Law

D. non-ideal and shows negative deviation

from Raoult's Law


https://dl.doubtnut.com/l/_ucUF7Ms2QGaU
https://dl.doubtnut.com/l/_0W3LZxyfYhWC

Answer: D

o View Text Solution

19. The relative lowering of vapour pressure of a
sugar solution in water is 3.5 x 103 The mole
fraction of water in that solution is

A.0.0035

B.0.35

C.0.0035 /18

D. 0.9965


https://dl.doubtnut.com/l/_0W3LZxyfYhWC
https://dl.doubtnut.com/l/_pTmcgKhnwuxR

Answer: D

o Watch Video Solution

20. The mass of a non-voltalle solute (molar
mass 80 g mol ~ ! ) which should be dissolved in

92 g of toluene to reduce its vapour pressure to
90 %

A 10g

B.20 g

C.92¢g


https://dl.doubtnut.com/l/_pTmcgKhnwuxR
https://dl.doubtnut.com/l/_mVKfoCLVBUWB

D.8.89 g

Answer: D

° Watch Video Solution

21. For a solution the plot of osmotic pressure
(m) verses the concentration (cinmolL ™' )
gives a straight line with slope 310 R where 'R' is
the gas constant The temperature at which

osmotic pressure measured is

A. 310 x 0.082K


https://dl.doubtnut.com/l/_mVKfoCLVBUWB
https://dl.doubtnut.com/l/_S3S0veOAjInP

B.310°C

C.37°C

310

> 0.082 K

Answer: C

o Watch Video Solution

22. 200 ml of an aqueous solution of a protein
contains 1.26 g of protein. At 300 K, the osmotic
pressure of this solution is found to be

2.52 x 10> bar.The molar mass of protein will


https://dl.doubtnut.com/l/_S3S0veOAjInP
https://dl.doubtnut.com/l/_wc8MghD7n0lG

be

(R = 0.083Lmol 'K ')

A. 62.22kgmol 1
B. 12444gmol 1
C. 300gmol ~*

D. none of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_wc8MghD7n0lG

23. The Van't Hoff factor (i) for a dilute aqueous

solution of the strong elecrolyte barium

hydroxide is

A.O

B.1

C.2

D.3

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_qxYrzKULr5fk
https://dl.doubtnut.com/l/_8Se4PmNJnLwV

24. What is the molality of al0 % W/W aqueous

sodium hydroxide solution?

A .2.778

B.2.5

C.10

D.0.4

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_8Se4PmNJnLwV

25. The correct equation for the degree of an

assoclating solute, 'n' molecules of which

undergoes assoclation in solution is

n(z —1
Aog— Tl
n—1
n(l —1
B.azz—( )
(n—1)
n(z —1
Ca—"Y
1—n
n(l —1
P Gl
1—n
Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_3aNMdKb8eAWT
https://dl.doubtnut.com/l/_zWZ6VsvSNTYX

26. which of the following aqueous solution has

the highest bolling point?

A 0.IMKNO;

B.0.1M Nas PO,

C.0. 1MBaCl2

D.0.1MK,50,

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_zWZ6VsvSNTYX

27. The freezing point depression constant for
water is 1.86° Kkgmol ™' , | f 5gNasS0, is
dissolved in 45 g water the depression in
freezing point as 3.64° C' The Vant Hoff factor

for Nay SOy is

A. 2.50
B.2.63
C.3.64

D. 5.50

Answer: A

| = |


https://dl.doubtnut.com/l/_PRTQlLPDGgHk

| @ View Text Solution

28. Equimotal aquous solutions of NaCl and KCl
are prepared If the freezing point of
NaClis — 2°C the freezing point of KCl

solution is expected tobe

A —2°C
B.—4°C
c.—1°C

D.0°C


https://dl.doubtnut.com/l/_PRTQlLPDGgHk
https://dl.doubtnut.com/l/_WF1KWeBrVmYG

Answer: A

o View Text Solution

29. Phenol dismerises in benzene having Van,t

Hoff factor 0.54 What is the degree of

association?

A. 0.46

B. 92

C. 46

D.0.92


https://dl.doubtnut.com/l/_WF1KWeBrVmYG
https://dl.doubtnut.com/l/_bqXt9ntFMt0c

Answer: D

o Watch Video Solution

30. Assertion : An ideal solution obeys Raoults
Law

Reason: In an ideal solution , solvent-solvent as
well as solute-solute interactins are similar to

solute-solvent interactions.

A. Both assertion and reason are true and

reason is the correct explanation of


https://dl.doubtnut.com/l/_bqXt9ntFMt0c
https://dl.doubtnut.com/l/_KD3tmk5EfqMx

assertion.

B. Both assertion and reason are true but

reason iIs not the correct explanation of

assertion

C. assertion is true but reason is false

D. both assertion and reason are false

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_KD3tmk5EfqMx

31. Define

Molality

o Watch Video Solution

32. Define

Normality

° Watch Video Solution

33. What is a vapour pressure of liquid ? What is

relative lowering of vapour pressure?


https://dl.doubtnut.com/l/_tZBIu6s95jfY
https://dl.doubtnut.com/l/_WMZptCLcLOZb
https://dl.doubtnut.com/l/_G888okXHfBQm

o View Text Solution

34. State and explain Henry's law

o Watch Video Solution

35. State Raoult law and obtain expression for
lowering of vapour pressure when nonvolatile

solute is dissolved in solvent.

° View Text Solution



https://dl.doubtnut.com/l/_G888okXHfBQm
https://dl.doubtnut.com/l/_nXomz42PBQDm
https://dl.doubtnut.com/l/_v6iIBnboNrsQ
https://dl.doubtnut.com/l/_UzsodlvYSwi1

36. what is molal depression constant ? Does

depend on nature of the solute?

o View Text Solution

37. What is osmosis?

° Watch Video Solution

38. Define the term 'isotonic solution'.

° View Text Solution



https://dl.doubtnut.com/l/_UzsodlvYSwi1
https://dl.doubtnut.com/l/_IJjDGgsds5Sg
https://dl.doubtnut.com/l/_ZN998ucf6ycN
https://dl.doubtnut.com/l/_6WAjpEkJOZFp

39. You are provided with a solid 'A' and three
solutions of A dissolved in water -one saturated
one unsaturated ,and one super saturated. How

would you determine which solution is which?

o View Text Solution

40. Explain the effect of pressure on the

solubility.

o Watch Video Solution



https://dl.doubtnut.com/l/_6WAjpEkJOZFp
https://dl.doubtnut.com/l/_N1Ksq55NRBJj

41. A sample of 12 M concentrated hydrochloric
acid has a density 1.2 gL ' Calculated the

molality.

o Watch Video Solution

42. A 0.25 M glucose solution at 370 . 28 K has
approxmately the pressure as blood does what

is the osmotic pressure of blood?

° Watch Video Solution



https://dl.doubtnut.com/l/_Di6yEdgTy30g
https://dl.doubtnut.com/l/_P62GAnMoIa1E

43. Calculated the molality of a solution
containing 7.5 g of glycine
(NHy — CH, — COOH) dissolved in 500g of

water

° Watch Video Solution

44, Which solution has the lower freezing point
? 10 g of methanol (CH30H) in 100 g of
water ( or ) 20 g of ethanol (CHy,H;OH) in 200

g of water

o Watch Video Solution



https://dl.doubtnut.com/l/_bBTpEbcdYjt5
https://dl.doubtnut.com/l/_GxygShQJuy4j

45. How many moles of solute particles are

present in one litre of 107* M potassium

sulphate ?

o Watch Video Solution

46. Henry's law constant for solubility of
methane In benzene is 4.2 x 10~ °mm Hg at a
particular constant temperature At this

temperature calculate the solubility of methane


https://dl.doubtnut.com/l/_GxygShQJuy4j
https://dl.doubtnut.com/l/_FPVD4AczTYUC
https://dl.doubtnut.com/l/_QTd2910aKPj3

at

(i) 750 mm Hg (ii) 840 mm Hg

o Watch Video Solution

47.The observed depression in freezing point of
water for a particular solution in 0.093°k
calculate the concentration of the solution in
molality Given that molal depression constant

for water is 1.86 K KGmol ~ !

o Watch Video Solution



https://dl.doubtnut.com/l/_QTd2910aKPj3
https://dl.doubtnut.com/l/_4uqH5KRygIeh
https://dl.doubtnut.com/l/_vMcj0QIGLCsO

48. The vapour pressure of pure benzene
(CgHg) at a given temperature is 640 mm Hg .
2.2 g of non -volatile solute is added to 40 g of
benzene. The vapour pressure of the solution is
600 mm Hg . Calcultaed the molar mass of the

solute?

o Watch Video Solution

Additional Question

1. The example of solid solution is


https://dl.doubtnut.com/l/_vMcj0QIGLCsO
https://dl.doubtnut.com/l/_61OjiwTnB1LB

A. glucose in water

B. cooper in gold

C. comphor in nitrogen

D. oxygen in nitrogen

Answer: B

o View Text Solution

2. The tanks used by scuba divers are filled with

air diluted with 11.7 % He,


https://dl.doubtnut.com/l/_61OjiwTnB1LB
https://dl.doubtnut.com/l/_A7d7r2bisV1g

B.56.2% O, and 32.1% N,

C.50.2% N, and 38.1 % O,

D.50.2 % O, and 38.1 % N,

Answer: B

o View Text Solution

3. The blocking of capillaries due to sudden
release of bubbles of Ny gas in blood is known

as


https://dl.doubtnut.com/l/_A7d7r2bisV1g
https://dl.doubtnut.com/l/_RbhtPjFGdHKZ

A. bends

B. blends

C. mends

D. all of these

Answer: A

° View Text Solution

4. Which of the following should have maximum

value for kg ?


https://dl.doubtnut.com/l/_RbhtPjFGdHKZ
https://dl.doubtnut.com/l/_vbfnphyvAKYo

A. He

B. H,

D. CO,

Answer: A

° Watch Video Solution

5. The increase in the temperature of the
aqueous solution placed in a closed vassel will

result in its


https://dl.doubtnut.com/l/_vbfnphyvAKYo
https://dl.doubtnut.com/l/_bSxh84Nss7fO

A. molality to increase

B. molarity to decrease

C. mole fraction to increase

D. mass % increase

Answer: B

o Watch Video Solution

6.1n a binary solution.

A. solvent my be liquid


https://dl.doubtnut.com/l/_bSxh84Nss7fO
https://dl.doubtnut.com/l/_0raF3vcAqNLy

B. solvent may be solid

C. solute may be gas

D. any of thses

Answer: D

o Watch Video Solution

7.The temperature at which the vapour pressure

of a liquid equals external pressure in called

A. freezing point


https://dl.doubtnut.com/l/_0raF3vcAqNLy
https://dl.doubtnut.com/l/_KKeV0DJac6xQ

B. boiling point

C. melting point

D. critical temperature

Answer: B

o Watch Video Solution

8. Solubility of gas decreases in a liquid by

A. increase of temperature

B. cooling


https://dl.doubtnut.com/l/_KKeV0DJac6xQ
https://dl.doubtnut.com/l/_3ZqkssrV70I7

C.increasing pH

D. decreasing pH

Answer: A

o View Text Solution

9. Vapour pressure is the pressure exerted by

vapour

A. in equilibrium with liquid

B. in any condition


https://dl.doubtnut.com/l/_3ZqkssrV70I7
https://dl.doubtnut.com/l/_0SdR8ByaTtyv

C.in an open system

D. in atmospheric conditions

Answer: A

o Watch Video Solution

10. A sample of toothpaste weighting 500 g , on

analysis was found to contain 0.2g of fluorine

The concentration of fluorine in ppm is

A4 x 10°

B.4 x 10?


https://dl.doubtnut.com/l/_0SdR8ByaTtyv
https://dl.doubtnut.com/l/_f5HGZopxhvrO

C.4 x 10

D. 2 x 102

Answer: B

o Watch Video Solution

11. 18 % ( w/V) solution of urea ( Mol mass = 60)

IS

A1TM

B.2 M


https://dl.doubtnut.com/l/_f5HGZopxhvrO
https://dl.doubtnut.com/l/_daxzaDgi7ugp

C.O3 M

D.3 M

Answer: D

° Watch Video Solution

12. The value of ebulliosepic constant depends

upon

A.AH, solution

B. nature of solvent


https://dl.doubtnut.com/l/_daxzaDgi7ugp
https://dl.doubtnut.com/l/_bTXkCR2hgCXt

C. nature of solute

D. freezing point of solution

Answer: B

o View Text Solution

13. Correct statement among the following

regarding osmoles is

A. Solvent flows from high concentration of

solute to low concentration of solute


https://dl.doubtnut.com/l/_bTXkCR2hgCXt
https://dl.doubtnut.com/l/_BrrB68SkXGBb

B. Solvent flows from low concentration of

solute to high concentration of solute

C.Solute flows from high concentration to

low concentration

D. Solution flows from low concentration to

high concentration

Answer: B

o View Text Solution

14. For associative solutes


https://dl.doubtnut.com/l/_BrrB68SkXGBb
https://dl.doubtnut.com/l/_rLD6GNmUwZUG

Al<land a<1

B.I > and a > 1

C.I< and a <1

D.I > and a <

Answer: A

o View Text Solution

15. Which of the following is correct about a

solution showing positive deviation?


https://dl.doubtnut.com/l/_rLD6GNmUwZUG
https://dl.doubtnut.com/l/_3FbSs9c3mINh

A. Vapour pressure observed will be the less

than that calculated from Raoult's law

B. Minimum boiling azeotrope will be formed

C.AH,,, <0

D.AV, ;. <0

Answer: B

° View Text Solution

16. Depression in freezing point for 1 M urea , 1M

NaCland 1M CaCL, are in the ratio of


https://dl.doubtnut.com/l/_3FbSs9c3mINh
https://dl.doubtnut.com/l/_kEG92GPnrMnZ

Al1:2:3

B.1:1:1

C.3:2:1

D.1:1:1

Answer: A

° Watch Video Solution

17. When a saturated solution of KCL is heated it

becomes


https://dl.doubtnut.com/l/_kEG92GPnrMnZ
https://dl.doubtnut.com/l/_I5Y34rRAl3iT

A. unsaturated

B. supersaturated

C.remains saturated

D. attains equilibrium

Answer: A

o Watch Video Solution

18. Which of the following has maximum freezing

point?


https://dl.doubtnut.com/l/_I5Y34rRAl3iT
https://dl.doubtnut.com/l/_lGlKDBD73ykj

A. Pure H,O
B.0.1M NaCl(aq)
C.0.01MNaCl(aq)

D.0.56M NaCl(aq)

Answer: A

° View Text Solution

19. The solution having minimum boiling points

IS


https://dl.doubtnut.com/l/_lGlKDBD73ykj
https://dl.doubtnut.com/l/_HEYmyrSwYcuh

A. 0. ]-MCGHIZOG

B. OlMCCLClz

C.0.1MNaCl

D.0.56MAICI;

Answer: A

o View Text Solution

20. What is the boiling point of 1 molal aqueous

solution of NaCl [Kb = O.52Kmolal_1].


https://dl.doubtnut.com/l/_HEYmyrSwYcuh
https://dl.doubtnut.com/l/_llXXqWfTBmba

A.99.48°C

B.98.96° C

C.100.52°C

D.101.04°C

Answer: D

° Watch Video Solution

21. For a non-electrolytic solution

A1 = + ve


https://dl.doubtnut.com/l/_llXXqWfTBmba
https://dl.doubtnut.com/l/_BhoioJJNmqJS

C.z=0
D.2 =1
Answer: D

° Watch Video Solution

22. The normalitiy of 10 % ( weight / volume )(

aceticand is

A. 1IN


https://dl.doubtnut.com/l/_BhoioJJNmqJS
https://dl.doubtnut.com/l/_xulyubZ0hWZA

B.10 N

C.1.7N

D.0.83 N

Answer: C

o View Text Solution

23. The highest temperature at which vapour

pressure of any liquids can be measured is

A. Critical temperature


https://dl.doubtnut.com/l/_xulyubZ0hWZA
https://dl.doubtnut.com/l/_ef3NZGZUGwQn

B. Boyle's temperature

C. Boiling point of the liquid

D. Kraft temperature

Answer: C

o View Text Solution

24. Which of the following equimolar solution

have highest vapour pressure?

A. Glucose


https://dl.doubtnut.com/l/_ef3NZGZUGwQn
https://dl.doubtnut.com/l/_gRxEhYFWPW1P

B. NacCl
C. K550,

D. K4F€(CN)6

Answer: A

° Watch Video Solution

25. The osmotic pressure of 01 M sodium

chloride solution at 27° C

A. 4.0 atm


https://dl.doubtnut.com/l/_gRxEhYFWPW1P
https://dl.doubtnut.com/l/_Rbs026GFUFO8

B.2.46 atm

C.4.92 atm

D. 1.23 atm

Answer: C

o Watch Video Solution

26. If CsH;OH and H, solution is example of
non-ideal solution then which graphical

representation is correct?


https://dl.doubtnut.com/l/_Rbs026GFUFO8
https://dl.doubtnut.com/l/_HXykjxhG2tv1

(##SUR_CHE Xl V02 C09 E02 026 OO01.png"

width="30%">

(##SUR_CHE X1 V02 C09 E02 026 002.png"

width="30%">

(##SUR_CHE_XI VO2_C09 E02 026 003.png"

width="30%">


https://dl.doubtnut.com/l/_HXykjxhG2tv1

(##SUR_CHE Xl V02 C09 E02 026 O04.png"

width="30%">

Answer: B

o View Text Solution

27. Which of the following statement is true?

A. Molarity of solution is dependent of

temperature


https://dl.doubtnut.com/l/_HXykjxhG2tv1
https://dl.doubtnut.com/l/_H8VtWUloD63m

B. Molality of solution is independent of
temperature

C. Mole fraction of solute is dependent on
temperature

D. The unit of molality is mol dm 3

Answer: B

o View Text Solution

28. If vant Hoff factor,i=1 then


https://dl.doubtnut.com/l/_H8VtWUloD63m
https://dl.doubtnut.com/l/_UdGBJhYJzYmk

A. It is dissociation

B. It is association

C. Both (1) &( 2)

D. Neither dissociation nor association

Answer: D

o View Text Solution

29. Among the following mixtures dipole-dipole

as the major interaction is present in


https://dl.doubtnut.com/l/_UdGBJhYJzYmk
https://dl.doubtnut.com/l/_Duhu5RTITc4E

A. Benzene and Cl,

B.Benzene and Cy H;OH

C. CH3OOCH3 and CH3CN

D. KCl| and water

Answer: C

o View Text Solution

30. An azeotropic solution of two liquids has a
boiling point lower than either of the boiling

points of the two liquids when it.


https://dl.doubtnut.com/l/_Duhu5RTITc4E
https://dl.doubtnut.com/l/_ysBsr2yNlAmL

A. shows negative deviation

B. shows positive deviation

C.show no deviation

D. is unsaturated

Answer: B

o View Text Solution

3. Two liquids having vapour pressure

P;° and P,° in pure state in the ratio of 2 :1 are


https://dl.doubtnut.com/l/_ysBsr2yNlAmL
https://dl.doubtnut.com/l/_pdMKE3XQN3IG

mixed in the molar ratio of 1: 2 The ratio of their

moles in the vapour state would be

A l:1

B.1:2

C.2:1

D.3:2

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_pdMKE3XQN3IG

32. A pressure cooker reduces cooking time for

food because.

A. Cooking involves chemical changes helped

by a rise in temperature

B. Heat is more evenly distributed in the

cooking space

C. Boiling point of water involved in cooking

is increased

D.The higher pressure inside the cooker

crushes the food material


https://dl.doubtnut.com/l/_ooUgf9N3dTqA

Answer: C

o View Text Solution

33. In the case of osmoles solvent molecules

move from solution having?

A. higher vapour pressure to lower vapour

pressure

B. higher concentration to lower

concentration


https://dl.doubtnut.com/l/_ooUgf9N3dTqA
https://dl.doubtnut.com/l/_qpb4AkB9PUpw

C.lower vapour pressure to higher vapour

pressure

D. higher osmotic pressure to lower osmotic

pressure

Answer: A

o Watch Video Solution

34. Equimolar solution of non-electrolyte in the

same solvent have


https://dl.doubtnut.com/l/_qpb4AkB9PUpw
https://dl.doubtnut.com/l/_A8IOiq4OmGZb

A.same boiling point and same freezing

point

B. different boiling point and different

freezing point

C.same boiling point but different freezing

point

D.same freezing point but different boiling

point

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_A8IOiq4OmGZb

35.In the phenomenon of osmosis through the

semipermeable membrane

A.solvent molecules pass from solution to

solvent

B. solvent molecules pass from solvent to

solution

C.solute molecules pass from solution to

solvent


https://dl.doubtnut.com/l/_A8IOiq4OmGZb
https://dl.doubtnut.com/l/_8XYF0zb0RnjQ

D. solute molecules pass from solvent to

solution

Answer: B

o View Text Solution

36. Which of the following physical properties is

used to determine the molecular mass of a

polymer solution?

A. Relative lowering of vapour pressure

B. Elevation in boiling point


https://dl.doubtnut.com/l/_8XYF0zb0RnjQ
https://dl.doubtnut.com/l/_st1bSe1P9MDL

C. Depression in freezing point

D. Osmotic pressure

Answer: D

o View Text Solution

37. When NaCl is added to aqueous solution of

glucose

A. Freezing point is lowered

B. Freezing point is raised


https://dl.doubtnut.com/l/_st1bSe1P9MDL
https://dl.doubtnut.com/l/_JksMxqfV4kLv

C. Freezing point does not change

D. Variation is freezing point can't be

predicted

Answer: A

o View Text Solution

38. The relationship between the values of

osmotic pressure of OJIM solutions of

KNO3(P1) and CHgCOOH(P2) is

AP > P


https://dl.doubtnut.com/l/_JksMxqfV4kLv
https://dl.doubtnut.com/l/_N82HqkElQwME

Answer: A

o View Text Solution

39. Which of the following pairs of solutions can
we expect to be isotonic at the same

temperature ?

A.01 M NaCl and 01 M Na,SO,


https://dl.doubtnut.com/l/_N82HqkElQwME
https://dl.doubtnut.com/l/_lVQr4AbkDtP8

B.0.1 M urea and 0.1 M NaCl
C.0.1 M urea and 0.2 M MgCl,

D. 0.1 MCCI,(NO3)2 and 01MNCL2SO4

Answer: D

o Watch Video Solution

40. Arrange the following aqueous solutions in
the order of their increasing boiling points
(i) 10~ *MNaCl

(i) 10 "3 M urea


https://dl.doubtnut.com/l/_lVQr4AbkDtP8
https://dl.doubtnut.com/l/_3z4FzSbZ7aF8

(iii) 10 M MgqCl,

(iv) 10~ ° M Nacl
A (1) < (i) < (iv) < (idi)
B. (i1) < (2) < (4%) < (iv)
C.(I) < (i) < (34t) < (iv)

D. (iv) < (i11) < (I) < (41)

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_3z4FzSbZ7aF8

41. Which of the following concentration terms
Is temperture independent

(1) Molarity

(i) Molallity

(iii) Normality

(iv) Mole frection

A&l

B. 1& Il

C.llonly

D. 11 &IV


https://dl.doubtnut.com/l/_3kl2N4hMYRKK

Answer: D

o View Text Solution

42. Two solution marked as A and B are seprated

through semipermeable membrane as below .

The phenomenon undergoing
(##SUR_CHE XI V02 CO9 E02 042 QO1png"

width="80%">

A. Na™ moves from solution A to solution B


https://dl.doubtnut.com/l/_3kl2N4hMYRKK
https://dl.doubtnut.com/l/_6QfuF2EUt9hw

B.Both Na™ and Cl moves from solution

(A) to solution (B)

C.Both Na’ and Cl~ moves from solution

(B) to (A)

D. Solvent molecules moves from solution (A)

to (B)

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_6QfuF2EUt9hw

43.Vapour phase diagram for a solution is given
below if doted line represents deviation?
(##SUR_CHE XI V02 CO9 E02 044 QO1l.png"
width="80%">
Correct observation for this solution
A AH, . : + ve
B.AS,,;,: + ve

C.AV, .. + ve

D. all of these

Answer: D

| = 1


https://dl.doubtnut.com/l/_ZpD3gXew8vBo

| QJ View Text Solution

44, A mixture of two liquids A and B having
boiling point of Ais 70°C and boiling points of
B ¢s100° C distills at 101.2° C' as single liquids
hence this mixture is

A. ldeal solution

B. Non ideal solution showing +ve deviation

C. Non ideal solution showing -ve deviation

D. Immiscible solution


https://dl.doubtnut.com/l/_ZpD3gXew8vBo
https://dl.doubtnut.com/l/_34DdbyD9NYTA

Answer: C

o View Text Solution

45. The mixtures are homogeneous irrespective
of their physical state and such homogeneous

mixtures are called as

A. solvent

B. solute

C.solutions

D. mixtures


https://dl.doubtnut.com/l/_34DdbyD9NYTA
https://dl.doubtnut.com/l/_4mTE6qkAhWx5

Answer: C

o Watch Video Solution

46. Which is a homogenous mixtures fo copper

and Zinc?

A. Brass

B. Gold

C. Silver

D. Steel


https://dl.doubtnut.com/l/_4mTE6qkAhWx5
https://dl.doubtnut.com/l/_IR4GvNykBGIE

Answer: A

o View Text Solution

47.What is the resultant solution is called if C14

is used?

A. aqueous solution

B. non-aqueous solution

C. chloride solution

D. carbon solution


https://dl.doubtnut.com/l/_IR4GvNykBGIE
https://dl.doubtnut.com/l/_VwKsKoDOdkLd

Answer: B

o View Text Solution

48. At the time of experiment how the solution

with required concentration is prepared?

A. By adding the raw salt

B. By adding the stock solution

C. By diluting the stock solution

D. By concentrate the stock solution


https://dl.doubtnut.com/l/_VwKsKoDOdkLd
https://dl.doubtnut.com/l/_dajRFF4B77su

Answer: C

o View Text Solution

49. Assertion (A) : A standard solution of
required concentration can be prepared by
dissolving a required amount of a solute in a
suitable amount of solvent

Reason ® : A standard solution is a solution

whose concentration is accurately known.

A.Both (A) and ® are true ® is the correct

explanation of (A)


https://dl.doubtnut.com/l/_dajRFF4B77su
https://dl.doubtnut.com/l/_qsFz7M8p7Paf

B.Both (A) and ® are ture and ® is not the

correct explanation of (A)

C. (A) true but @ false

D. Both (A) and ® are false

Answer: A

o View Text Solution

50. What happen in case of gaseous solute in
liquid solvent the solubility with increase in

temperature?


https://dl.doubtnut.com/l/_qsFz7M8p7Paf
https://dl.doubtnut.com/l/_VGrz1Jh947JN

A. increase

B. decrease

C.no change

D. become zero

Answer: B

o Watch Video Solution

51. Assertion (A) : If the dissolution process is
endothermic , the increase in temperature will

shift the equilibrium towards right


https://dl.doubtnut.com/l/_VGrz1Jh947JN
https://dl.doubtnut.com/l/_R9Zfz0PqFH6A

Reason ® : This is according to Le-Chatelier

princeple.

A.Both (A) and ® are true ® is the correct

explanation of (A)

B.Both (A) and ® are ture and ® is not the

correct explanation of (A)

C. (A) true but @ false

D. Both (A) and ® are false

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_R9Zfz0PqFH6A

52. Assertion (A) :The increase in kinetic energy

breaks the weak intermolecular forces between

the gaseous solute and liquid solvent.

Reason ® : Which results in the release of the

dissolved gas molecules to the liquid state

A.Both (A) and ® are true ® is the correct

explanation of (A)

B.Both (A) and ® are ture and ® is not the

correct explanation of (A)

C. (A) true but @ false

D. Both (A) and @ are false


https://dl.doubtnut.com/l/_luEdGNknvFDP

Answer: C

o View Text Solution

53. Assertion (A) : If evaporation is carried out in
a closed container then the vapour remains in
contact with the surface of the liquid.

Reason ® : During which they collide with each
other and also with the walls of the container .As
the collision is of the container .As the collision

is inelastick ,they lose their energy


https://dl.doubtnut.com/l/_luEdGNknvFDP
https://dl.doubtnut.com/l/_DGBCLDjF1wOG

A.Both (A) and ® are true ® is the correct

explanation of (A)

B.Both (A) and ® are ture and ® is not the

correct explanation of (A)

C. (A) true but @ false

D. Both (A) and @ are false

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_DGBCLDjF1wOG

54. Match
(##SUR_CHE Xl V02 C09 EO2 055 QO1.png"

width="80%">

AABC’D
1 2 3 4
BABC’D
2 1 3 4
CABCD
4 1 3 2
DABC’D
4 3 2 1
Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_hwR99vlpHr9L
https://dl.doubtnut.com/l/_5FQaav9UCeF3

55. Match
(##SUR_CH E XI VO2 C09 EO2 056 QO1.png"

width="80%">

AABCD
1 2 3 4
BABC’D
2 1 3 4
CABCD
4 1 3 2
DABCD
4 3 2 1
Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_5FQaav9UCeF3
https://dl.doubtnut.com/l/_jVET2TnMhesi

56. Match
(##SUR_CHE_XI V02 C09 E02 057 QO1png"

width="80%">

A B C
A.
1 2 3
8 A B C
"2 1 3
A B C
C.
3 1 2
A B C
D.
3 2 1
Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_jVET2TnMhesi
https://dl.doubtnut.com/l/_TAKwTACNrpBC

57. Which of the following sentence is incorrect?

A. The solubiity of a solute in a liquid solvent

decrease with increase in tempreature

B. When the temperature is increased the

average kinetic energy of the molecules of

the solute and the solvent increases.

C. The increase in kinetic energy faciliates the

solvent molecules to break the

intermolecular attractive forces that keep


https://dl.doubtnut.com/l/_TAKwTACNrpBC

the solute molecules together and hence

the solubility increases.

D. All of the above are false

Answer: A

° View Text Solution

Short Answers Question

1. Define PPM.

° Watch Video Solution



https://dl.doubtnut.com/l/_TAKwTACNrpBC
https://dl.doubtnut.com/l/_N7yD4DU12REy

2. List out the factors that influence the

solubility

o View Text Solution

3. What is Kgin Psgute = KgXgomte ! ON

what does the value of Ky depends?

o View Text Solution

4. Write down the limitation of Henry,s law.


https://dl.doubtnut.com/l/_N7yD4DU12REy
https://dl.doubtnut.com/l/_3HNtsvi6LUPU
https://dl.doubtnut.com/l/_2ibWzKV5o3k7
https://dl.doubtnut.com/l/_nuNFeOh1opmJ

o Watch Video Solution

5. Plot a graph with respect to Henry's law
stating the solubility of HCl gas in the solution

in cyclohexane

° View Text Solution

6. Define evaporation

0 Watch Video Solution



https://dl.doubtnut.com/l/_nuNFeOh1opmJ
https://dl.doubtnut.com/l/_GZJY3nKwyOTh
https://dl.doubtnut.com/l/_DPSF6LJqkOfH
https://dl.doubtnut.com/l/_MWEjOzjfTehB

7. What is condensation polymerisation? Write

with an example.

o Watch Video Solution

8. Why is the deviation observed in the solution

of accetic acid?

° View Text Solution

9. KCl in water deviates from ideal behaviour -

why ?



https://dl.doubtnut.com/l/_MWEjOzjfTehB
https://dl.doubtnut.com/l/_xiSEepnstF3q
https://dl.doubtnut.com/l/_LSApXcGVFTrb

| & View Text Solution

10. Write a short note , Van't Hoff equation.

o Watch Video Solution

11. Define colligative properties.

o View Text Solution

12. What is obnormal molar mass?

o View Text Solution



https://dl.doubtnut.com/l/_LSApXcGVFTrb
https://dl.doubtnut.com/l/_3Rk2IPXkQQfl
https://dl.doubtnut.com/l/_DN6g9Cu7ozFa
https://dl.doubtnut.com/l/_W38knYDJVI3a

13. How will you relate the Van't Hoff factors to

association and dissociation?

° View Text Solution

14. Define Mass percentage?

° Watch Video Solution



https://dl.doubtnut.com/l/_W38knYDJVI3a
https://dl.doubtnut.com/l/_OeWYIOpWYkO1
https://dl.doubtnut.com/l/_HtEun5DzkY2P

15. Why a person suffering from high blood
pressure is advised to take minimum quantity of

common salt ?

° View Text Solution

16. Define solution.Explain with an example.

° Watch Video Solution

17. Write a brief (of a component ) (x)

| o “sg . __ 3 ~_ 1.


https://dl.doubtnut.com/l/_yNdhz5ozXSSw
https://dl.doubtnut.com/l/_xQfQGrMCeRYI
https://dl.doubtnut.com/l/_PkP5M2WuGldU

= VICW 1CAL 001IULI0N ]

18. Enlist the advantage using standard

solutions.

o View Text Solution

19. Write a note on solubility of solute and brief
out the formation of a saturated solution with

an examples.

° View Text Solution



https://dl.doubtnut.com/l/_PkP5M2WuGldU
https://dl.doubtnut.com/l/_TRZleVuvI8bN
https://dl.doubtnut.com/l/_48ZmGB1okmHB
https://dl.doubtnut.com/l/_EauhUqIoH2RC

20. Explain the above vaiation in solubility with

respect to temperature for selective compounds.

o View Text Solution

21. With the help of a graph discuss the variation

of vapour pressure of benzene in toluence.

o View Text Solution

22. Discuss the comparison between Raoult's law

and Henry's law.



https://dl.doubtnut.com/l/_EauhUqIoH2RC
https://dl.doubtnut.com/l/_19oJ6WP3vpPF
https://dl.doubtnut.com/l/_j0e2OVmhjQlC

‘ o View Text Solution

23. Write a brief note on ideal solutions.

o Watch Video Solution

24. Distinguish between ideal and non-ideal

solution.

° Watch Video Solution



https://dl.doubtnut.com/l/_j0e2OVmhjQlC
https://dl.doubtnut.com/l/_04HMte9zJi2e
https://dl.doubtnut.com/l/_HIjKHh9HwlwU

25. How does the change in temperature
pressure and concentration causes deviation

from ideal behaviour ?

° View Text Solution

26. Define the Boiling point

° Watch Video Solution

27. Define the Elevation of boiling point

| o wAar_ao_L vl _ e~_1__0°_ _


https://dl.doubtnut.com/l/_hta3Lsu0qSZX
https://dl.doubtnut.com/l/_pOD3BavJ2OUJ
https://dl.doubtnut.com/l/_jMSyP63Qx9lP

o Wyvdllll VIUCO o00I1ULIOTN] ]

28. Define the Ebullioscopic constant

o Watch Video Solution

29. Write short note an freezing point
depression in freezing point and cryoscopic

constant.

o Watch Video Solution



https://dl.doubtnut.com/l/_jMSyP63Qx9lP
https://dl.doubtnut.com/l/_2XuinXSTsv4v
https://dl.doubtnut.com/l/_OCgIjxEJ57UV

30. On the account of osmotic pressure 'arive ' at
the Van't Hoff equation.
(##SUR_CHE_XI V02 C09 EO4 015 QO1.png"

width="80%">

° View Text Solution

31. Discuss the significances of osmotic-pressure

over other colligative properties.

o Watch Video Solution



https://dl.doubtnut.com/l/_LtEexyxl6Qvf
https://dl.doubtnut.com/l/_ONk5UU386pXB

32. Define Van't Hoff factor.

o Watch Video Solution

33. Write the value for CH3COOH and NaCl.

° View Text Solution

34.What does the following conditions reval ?

i=1 <land I> 1

o View Text Solution



https://dl.doubtnut.com/l/_poVTg7mm4a4s
https://dl.doubtnut.com/l/_Q5cdXYFN3BCE
https://dl.doubtnut.com/l/_PTjvQaNwT7s9

35. Discuss the process of roasting with suitable

example.

° Watch Video Solution

Long Answers Questions

1. How does the change in temperatue affect the
solubility of a solute in a liquid solvent and

gaseous solute in liquid solvent ? Explain

o View Text Solution



https://dl.doubtnut.com/l/_WC9xU6yRYoz8
https://dl.doubtnut.com/l/_oH3QS9uglQ2w

2. "Rate of vapourisation is reduced by presence

of non-volatile solute "-Explain.

o View Text Solution

3. Explain the positive deviation exhibited by
non-ideal solution with prefernce to a solution

of ethyl alcohol and water.

° View Text Solution



https://dl.doubtnut.com/l/_Td5SX7p628lW
https://dl.doubtnut.com/l/_0MY4v8kBFqiN

4. When does a non-ideal solution is said to

show a negative deviation?

o View Text Solution

5. Analyse the deviation observed in the solution

of phenol and aniline.

o View Text Solution

6. Explain the factors which are responsible for

the deviation of solution from Raoult's law.


https://dl.doubtnut.com/l/_COOhEfyI0f17
https://dl.doubtnut.com/l/_WToEp3QP3cc1
https://dl.doubtnut.com/l/_olf9qKl7ymvL

° View Text Solution

7. Prove that relative lowering of vapour

pressure is a colligative property.

° View Text Solution

8. Write down the formula (and expand the
terms ) used for the determination of molar

mass.

o View Text Solution



https://dl.doubtnut.com/l/_olf9qKl7ymvL
https://dl.doubtnut.com/l/_DdGF2eUxuf3Y
https://dl.doubtnut.com/l/_aAWLx4EH9arp

9. Write note on reverse osmosis and explain its

application in desalination of sea water.

° View Text Solution

Creative Questions Hots

1. Define solution, solvent and solute.

° Watch Video Solution



https://dl.doubtnut.com/l/_XcfASyaxWlsX
https://dl.doubtnut.com/l/_WzY3Da2wGVRK

2. What are the non-aqueous solution? Give

example.

° Watch Video Solution

3. Define solubility.

° Watch Video Solution

4. Give the expression and illustration for the

following concentration terms.


https://dl.doubtnut.com/l/_7xU1FR43zmjG
https://dl.doubtnut.com/l/_bbczaV5ML1G7
https://dl.doubtnut.com/l/_eq7BrBlVzRsf

(i) Molarity (ii) Formality (iii ) Mass Percentage

(iv) Volume Percentage (v) Mass by volume

° View Text Solution

Numerical Problems

1. A solution contians 510 g of of sulphuric acid

per litre at 25° C' Calculated the normality and

molarity of the solution.

° Watch Video Solution



https://dl.doubtnut.com/l/_eq7BrBlVzRsf
https://dl.doubtnut.com/l/_gV5avd9eR3rR
https://dl.doubtnut.com/l/_M2EjECtFeOCi

2. A solution is prepared by dissolving 30g of
urea in 120g of water .Calculate the molality of

the solution . ( Molar mass of urea : 60)

o Watch Video Solution

3. A sample of 56g of ethanol is dissolved in 36g
of water.of Calculated the mole fraction of ethyl

alcohol.

o Watch Video Solution



https://dl.doubtnut.com/l/_M2EjECtFeOCi
https://dl.doubtnut.com/l/_6ff94dQvNKDn

4. What is the mass percentage of each
component in a mixture containing 22 g of

methanol in 112g of benzene?

o Watch Video Solution

5. Calculate the volume of 1.5 N H,50, is

completely neturalized by 35.8 mL of

2.5NNaOH

o Watch Video Solution



https://dl.doubtnut.com/l/_WDbA6BkGNDYU
https://dl.doubtnut.com/l/_KBsAdNS0fZOy

6. Calculate the volume of 1.5 N H,S0, is
completely neturalized by 35.8 mL of

2.5MNaOH

o Watch Video Solution

7. Calculate the volume of 15 N H,S0,

completely neturalized by 35.8 mL of

2.5NBa(OH),

° Watch Video Solution



https://dl.doubtnut.com/l/_7KxLTGO5p43o
https://dl.doubtnut.com/l/_IulALc0wyarV

8. Calculate the volume of 1.5 N H,S50,

completely neturalized by 35.8 mL of

2.5M Ba(OH,)

o Watch Video Solution

9. Decribe how would yor prepare the following

solution from solute and solvent

1Lof1.5M CoCl, solution

o Watch Video Solution



https://dl.doubtnut.com/l/_EBNbP5IgbDop
https://dl.doubtnut.com/l/_uLMaAjWap9pA

10. Decribe how would yor prepare the following

solution from solute and solvent

566mLof 6.0 % (V /V)methanol solution

o View Text Solution

11. Calculate the present by mass of NaC'l if 1.75

g of NaCl is dissolved in 7.88g of water

° Watch Video Solution



https://dl.doubtnut.com/l/_TXKchZfQBgaY
https://dl.doubtnut.com/l/_vAI3xhfMbpd5

12. Calculate the molarity of each of the
following solutions

8.82 mol of H5S0,in 3.75L of solutions.

o Watch Video Solution

13. Calculate the molarity of each of the
following solutions

0.611 mol of ethanol in 96.3 mL of solution.

o Watch Video Solution



https://dl.doubtnut.com/l/_773PsKprsBqE
https://dl.doubtnut.com/l/_Ra3vfDzGJfky

14. NaOH and HCI react to form NaCl and H,O
what volume of 0.250 M Na OH solution contains

0.110 mol of NaOH

o Watch Video Solution

15. What of volume of 0.20 M NaOH is required

to exactly react with 0.150 mol HCI

° Watch Video Solution



https://dl.doubtnut.com/l/_gkQQ7KwbpFDc
https://dl.doubtnut.com/l/_FQLMxRDM1BlJ

16. Explain how would you prepare the following
dilute solution from more condentrated solution
(a) 5Lof6.00M H5 SO, from 18.0 MH, S0,

(b) 250 mL of 0.5 M CaCl, form 3.0MCaCl,
solution

© 0.2NH,50,500mL from 3.0 M H,SO,

o Watch Video Solution

17. What is the molarity of the solutions

prepared by diluting 25.0 mL of 0.31 M MgCl,


https://dl.doubtnut.com/l/_1QQ12x5daFPs
https://dl.doubtnut.com/l/_Gk1O8XtjHARW

solution to each of the following volumes (a) 40

mL (b) 100 mL © 350 mL?

o Watch Video Solution

18. A sample of drinking water was found to be
contaminated with chloroform (CHC!3) which
is considered as cercinogen . The level of
contamination was 15 ppm ( by mass)

(i) Express this in percent (by mass)

(i) Calculate the molarity of chloroform in the

water sample.

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_Gk1O8XtjHARW
https://dl.doubtnut.com/l/_bxh4crB0MQ8U

19. Calculate the molefraction of each
component in a mixture containing 40 mass

percent of toluene in CHCl;

° Watch Video Solution

20. Calculate the weight of carbon dioxide
dissolved in 1 L bottle of carbonated water , If
the manufacturer uses a pressure of 2.4 atm in

the bottling process at 25° C.

l o Watch Video Solution


https://dl.doubtnut.com/l/_bxh4crB0MQ8U
https://dl.doubtnut.com/l/_3RWP2wYKH0GD
https://dl.doubtnut.com/l/_83YrWX76dUsp

21. The Henry's Law constant for oxygen
dissolved in water is 4.34 x 10*atm ( mol /L) at
25°C' . If the partial pressure of oxygen in air is
0.2 atm under ordinary atmospheric condition
calculate the concentration (in mol/litre ) of

dissolved oxygen in water equilibrium with air at

25°C

o Watch Video Solution



https://dl.doubtnut.com/l/_83YrWX76dUsp
https://dl.doubtnut.com/l/_SRHZDjP47XJW

22. A solution is prepared by dissolving 2.0 g of
glucose and 4.0 g urea in 100 g of water at 298 K
. Calculate the vapour pressure of the solution ,If
the vapour pressure of pure water is 23.756 torr.
(Molecular mass of urea = 60 and glucose = 180g

mol 1)

° Watch Video Solution

23. A solution of lactose containing 845 g of
lactose in 100 g of water has a vapour pressure

of 4.5 mm of Hg at 0° C' . If the vapour pressure


https://dl.doubtnut.com/l/_EoXatmNJFrh2
https://dl.doubtnut.com/l/_N7I9Eq8RUI94

of pure water is 4.579mm of Hg . Calculate the

molar mass of lactose.

o Watch Video Solution

24. Calculate the boiling point of a solution
which is prepared by dissolving 68.4g of solute B
in one kilogram of water . (Molar mass of solute
Bis342g mol 1T, = 373.1K and Kj(water) =

0.52 K kgmol 1

o Watch Video Solution



https://dl.doubtnut.com/l/_N7I9Eq8RUI94
https://dl.doubtnut.com/l/_YdTDhFnQTXT6

